Sec:

Subject: Mathematics Marks: 60

Name:

Class: 4

Time: 2 hours

R Choose the correct answer.

(10 x 1 = 10)

1. 2,65,720 rounded off to the nearest 1000 is
a. | 2,65,000 b. | 2,66,000
c. | 2,66,700 d. | 2,66,800
2. The difference between 75,982 and 57,256 is
a. | 18,726 b. | 18,276
c. | 18,762 d. [ 18,672
The product of 750 and 1000 is
3.
a. | 7500 75000
c. | 750000 7500000
4,

When 6250 is divided by 100, the quotient and remainder will be

6 and 250

62 and 5




c. | 62 and50 d. | 625and 0

The greatest multiple of 9 less than 100 is

5.
a. | 90 b. | 81
c. | 99 d. | 72
1. The simplest form of the fraction is
a. b.
C. d.
CPA Maths Class 4

The short form of 40 + 5+ 0.2 + 0.03 is .
45.23 b. | 45.32




45.05

45.5




2. If the diameter of a circle is 10 cm, then its radius is
a. | 20cm b. | 6cm
C 4cm d. [ 5cm
3. The sum of and is .
a. b.
C. d.
4, What is the next term in the given pattern?
a. b.
C. d.
Il. Fill in the blanks from the given bracket. (5x1=5)
.
(<,>)
2. =
(0.25, 0.025)
3.

A polygon with 5 sides is called a

. (pentagon, hexagon)

I ) )



5. 918,27, 36,45, (54, 45)



V.

Match the following.
DCLV

40000 + 100

HCF of 27 and 36
iS same as

24 +0.5+0.08

uNENE

Answer the following questions.

1. Draw the net of a cuboid.
2. Add. +
3. Write in decimals.

a. 5 hundredths

oo oo

400

655
24.58

b. 2thousandths

(5x1=5)

(10 x 3 = 30)



Subtract.

Find the estimated quotient of 1590 + 21.

Find the estimated product.
392 x 28

Find 3 equivalent fractions of .



8. Draw a circle with the following measures.

a. Radius=3.5cm b. Diameter =6 cm



9. Draw the next figure in the growing pattern.

10. Complete the following multiplication pattern.

1x1=1
11x11=121
111x111=12321
1111x1111-=
11111x11111-=

VI. Do asinstructed. (2x5=10)
1. Draw the mirror image of the following figures.

a. b.

2. Draw the top view, front view and side view of the following solid.
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